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BAL -145 nyj | BAL 42| BaL 300 BAL 50 BAL
45.0 NYT 21| o 5 0
tb  vs DET| TB 38
off DET 17| »
phi -45 WAS| PHI 37| PHI 300 PHI 50 PHI 50 PHI
40.0 was 27| o
GB 45 chi| 6B 21| &8 [s00 crr| | 50 8
405 cHr 13| 100 U 50 U
ne 95 CIN| NE 34 N 200 NE 50 NE 100 NE
405 CIN 13| o 5 0
TEN -30 hou| TEN 21| Hou 1000 HOU 300 Hou [200 Ten] |
50.0 Hou 24| 50 U
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cle -25 ARZ| CLE 24| arz
48.0 ARZ 38| o
min -25 LAC| MIN 39| MIN | 50 MIN|750 MIN 1550 MIN 50 MIN
445 LAC 10| o
SF -110 afl | SF 22| AT 300 ATL
47.0 ATL 29| o 50 0
lar  -10 DAL| LAR 21| pAL 500 DAL 300 DAL 100 DAL
485 DAL 44| o 50 0 100 0
PIT -20 buf [ PIT 10| suF 50 BUF 1500 BUF [100 prT| |
36.5 BUF 17| v 5 U
NO -90 ind|[ NO 34| No 750 NO [50 o] 100 NO|[200 NO
46.0 IND 7| U 100 U 50 U
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delta 0 1000 | O | O | 1000 300 0] 0 750 -250 0|]0]0]O0 700 0O|0| 0] 1500 | O O] O] O] O] 1550 | O 0 300 0)]0])0] O
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